
ŒÛÙˆ ÁÈ· ÙËÓ ÔÔ›· ÈÛ¯‡ÂÈ 

f(x.y)= f(x) + f(y) -1, ÁÈ· Î¿ıÂ x,y >0. ¢Â›ÍÙÂ
fiÙÈ:
i)f(1) =1 ,

ii)  

iii) AÓ Ë ÂÍ›ÛˆÛË f(x)= 1 ¤¯ÂÈ ÌÔÓ·‰ÈÎ‹ Ï‡ÛË
ÙËÓ x = 1, ÙfiÙÂ Ë f Â›Ó·È ‘1- 1’.

∞Ó ÁÈ· ÙÔ ÌÈÁ·‰ÈÎfi z ÈÛ¯‡ÂÈ ÙfiÙÂ 

(i) ¢Â›ÍÙÂ fiÙÈ  

(ii) ¡· Ï˘ıÂ› Ë ÂÍ›ÛˆÛË 

ŒÛÙˆ ÌÂ f(R) =R ÁÈ· ÙËÓ ÔÔ›· 

ÈÛ¯‡ÂÈ e2f(x)+ 2 f5(x) - x +1 = 0

(·) ¡· ‰Â›ÍÂÙÂ fiÙÈ Ë f Â›Ó·È 1-1

(‚) N· ‚ÚÂ›ÙÂ ÙËÓ ·ÓÙ›ÛÙÚÔÊË ÙË˜ f

ŒÛÙˆ Î·È 

(·) ¡· ‰Â›ÍÂÙÂ fiÙÈ f(z) = z2 + iz  -1

(‚) ∞Ó  Ó· ‰Â›ÍÂÙÂ ÔÙÈ ‹ 2Imz = -1

(Á) ¡·  Ï‡ÛÂÙÂ ÙËÓ ÂÍ›ÛˆÛË 

(i) H Û¯¤ÛË ÈÛ¯‡ÂÈ ÁÈ· 

Î¿ıÂ x,y >0 ¿Ú· Î·È ÁÈ· x = y= 1, ÔfiÙÂ 

¤¯Ô˘ÌÂ f(1)=f(1)+f(1) -1 f(1) =1

(ii) °È· y=1/x Ë Û¯¤ÛË (1) Á›ÓÂÙ·È

(iii) ŒÛÙˆ ÌÂ f(x1) = f(x2) 

Î·È ÂÂÈ‰‹ Ë f(x) = 1 ¤¯ÂÈ 
ÌÔÓ¿‰ÈÎË Ï‡ÛË  ÙËÓ x=1

¿Ú· ¿Ú· f ‘1- 1’.

(i) E›Ó·È  ÔfiÙÂ 

(ii)   

¿Ú· z = 1, z = -1, z =i,  z = -i 

(·) °È· Î¿ıÂ  ¤¯Ô˘ÌÂ 

e2f(x)+ 2 f5(x) - x +1 = 0 

e2f(x)+ 2 f5(x)= x -1  (1) . ŒÛÙˆ ÌÂ

f(x1) = f(x2)  ¿Ú· Â›Ó·È e2f(x
1

) =  e2f(x
2

)  Î·È 

2f5(x1) =2f5(x2) .

OfiÙÂ e2f(x
1

) +2f5(x1) =e2f(x
2

) +2f5(x2) 

x1 - 1 =  x2 - 1 x1 =  x2 ¿Ú· f Â›Ó·È 1-1.

(‚) °È· Î¿ıÂ  ˘¿Ú¯ÂÈ ÌÔÓ·‰ÈÎfi 

ÒÛÙÂ f(x) = y  x = f -1(y) ¿Ú · Ë (1) Á›ÓÂÙ·È

e2y +2y5 =f -1(y) -1  f -1(y) =  e2y +2y5+ 1, 

‹  f -1(x) =  e2x +2x5+ 1,  

(·) °ÓˆÚ›˙Ô˘ÌÂ fiÙÈ i3 = -i ¿Ú· 

(‚)  ¿Ú· 

‹ . √fiÙÂ   ‹ 

(Á)  

¶·Ú·Ù‹ÚËÛË: √È Û¯¤ÛÂÈ˜ ,

Î·Ïfi Â›Ó·È Ó· ·Ô‰ÂÈÎÓ‡ÔÓÙ·È
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z = - z ⇔ z ∈ I

z = z ⇔ z ∈ R

⇔ z2 + 2iz + i2 = 0 ⇔ ( z + i)2 = 0 ⇔ z = - i

f(z) = z
i
 ⇔ z2 + iz -1 = z

i
 ⇔ z2 + iz -1 = - iz ⇔ z2 + 2iz -1 = 0 ⇔

z - z = - i ⇔ 2 Imz ⋅ i = -i ⇔ 2 Im z = -1

z = z ⇔ z ∈ Iz - z + i = 0 ⇔ z+ z =0

(z- z)⋅ (z + z) +i (z + z) = 0 ⇔ (z + z) (z - z + i) = 0 ⇔

⇔ z2 + iz = z
2
 - iz ⇔ (z2 - z

2
) + i (z + z) = 0 ⇔

f(z) = f(z)  ⇔ z2 + iz -1 = z2 + iz -1 ⇔z2 + iz -1 = z
2
 - iz - 1 ⇔

f(z) ∈ R

f(z) = z3 + i
z - i

 =
z3 - (- i)

z - i
 = z3 - i3

z - i
 =

(z - i) ⋅ (z2 + iz + i2)

z -i
 = z2 + iz -1

x ∈ R

y ∈ R⇔

⇔

x ∈Ry ∈ f(R)

⇔

⇔
(1)

x1, x2 ∈ R

⇔

x ∈ R

⇔ (z- 1) ⋅ (z +1) ⋅ (z - i) ⋅ (z + i) = 0

⇔ (z2 - 1) ⋅ (z2 + 1) = 0 ⇔ ⇔ z4 =1 ⇔ z4 -1 =0

z5 ⋅ z = 1 ⇔ z4 ⋅ z ⋅ z = 1 ⇔ z4 ⋅ z  2 = 1 ⇔ z4 ⋅1 =1

 z5 ⋅ z  = 1 ⇔  z5  ⋅  z  = 1 ⇔  z 5 ⋅  z  = 1 ⇔  z 6 =1 ⇔  z  = 1

z5 ⋅ z = 1

x1⋅ 1
x2

 =1 ⇔x1 = x2

f(x1⋅ 1
x2

) =1⇔
(1)

⇔ f(x1) = 2 - f( 1
x2

) ⇔  f(x1) + f( 1
x2

) = 2 ⇔  f(x1) + f( 1
x2

) -1= 1

⇔
(2)

x1, x2 ∈ (0, +∞)

⇔ 1= f(x) + f(1
x

) -1 ⇔ f(x) = 2 - f(1
x

) (2)

f(x ⋅ 1
x

) = f(x) + f(1
x

) -1 ⇔ f(1) = f(x) + f(1
x

) - 1 ⇔ 

⇔

f(x ⋅ y) = f(x) + f(y) -1   (1)

f(z) = z
i

z ∈ If(z) ∈ R

f(z) = z3 + i
z - i

z ∈ C , z ≠ i

f : R → R

z5 ⋅ z = 1

z  = 1

z5 ⋅ z = 1

f(x) = 2 - f(1
x

) , x>0

f: (0, +∞) → R
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